EAGRAROBREERT — 2 N— ABISH —F

202011828 (A) 10mEER3H

m LU MS—XE B2FEHE Ho7%—# ‘ (48] /J\EEJ‘ [BEME] — | 4 (K) 16000 BE
[AE4£] 1% :350,000” ~ 23%&:9800MH  3#%&:5,000M  437%&:3500H . 57%&:21,000H
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
= 405 | WAEEE 1:39.4 2-2 37.6 — 1 477 | WFR=— (KiR)
1 6| 7N—F 54.0 =) o |EHmE
LTANNGTTFY— B:AXEHFv > EvJILy RT7—L4
S e > 4 | FHER 1:39.6 3-3 37.5| — 3 472 | TEEFAZ (BERE)
Bl 3| LTRy k=X ~ % s6.0 (1 1/2) © |k
L:Tv TRy b BR-F 4 —XXZXH FE EF 45035
I A S 8 4 3 | w|OB— 1:40.0 5-4 37.8| — 2 510 |HEB%E (KR)
31| bXTTZNN=0 56.0 (2 1/2) (+5) ﬂ)?v7fth
YL KYIYRIZR B:T7zFY-—OYFK AT 45
LTS o4 | BREERRE 1:40.2 7-6 37.5| — 8 487 | FREHVER (EERE)
4|5]5 A=)V dZF7 vy 556.0 (11/2) (+1) NIERX
RN—ErTv— B:UYAT(ATCR HET7— L
N # o5 | SIEEE 1:40.5 9-8 7.7 — 6 447 | HIEZRI (KR)
5/8[8|/YPNTHY 6.0 (1172 o) | ENIBKTE
LiwiNnNy&h7x BE-XTG14U7N)T FrEFX X T7— L
- » > 5 | AKBE 1:40.5 6-7 38.2| — 5 500 | fE4AREBRI (KiR)
EE 2| Fa—7O—Y - 77| B0 (7€) (3 |RRERE
:tr/n7AA4 B:FLTUZEX (AYorie}
N it 5 | B 1:40.5 4-5 8.5 — 4 484 | HIEER] (KIR)
718lg| VLB 54.0 (7457) (+o4) | FEHAME
L:TVHA XTI K -V —-T7 F7 A
KOy 7 | BEREA 1:41.5 1-1 39. — #HEXE (KiR)
8 4| 7> k07 e 53.0 6) s ! (4_717) HERST
Y92G5 B:Od—-IWFRT 1 — BINRT 7 — L
A o7 | BEN 1:42.7 8-9 9.9 — 9 462 | ZEHEE (KR)
91717 TV—=L—=JX> b 556.0 @ -2) %) 777
R:RY—bLYr—=— B:aAILFA =
@ I—F—@EBIERL
13—=7-
23—7F—
3T—7— 4,6,3,9,1,2,5,7,8
43—F— 4,6,3,1,9,5,2,8,7
[ N
B 6 190M 794K 3-6 180 & 3-6 600 &R 1-3-6 370M
# B 6 110 1-6 150F B E 3-6 570M EE 6-3-1 1,830
3 140H 1-3 230M B H 6-3 790
1 120M

ARICOVWTRDTEEERROODE. TR LI,




